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Match #17


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
To a linguist, this word refers to sounds such as “l” and “r”, which flow smoothly, do not create friction and have some vowel-like properties. To a financial planner, this word refers to something that can be quickly converted into cash. What is this word that a chemist uses to refer to a condensed gas or a melted solid?

ANSWER: liquid
2.
Tradition holds that towards the end of his 72-year life, he edited or wrote commentary on works such as The Spring and Autumn Annals and The Classic of Changes, works that are part of the Five Classics. What philosopher, a court official of the kingdom of Lu, had his conversations recorded in the Analects and lived in Chou (CHOH) Dynasty China?

ANSWER: Confucius (kun-FEW-shus) or Kong Fuzi or K’ung Fu-tzu

3.
It is able to contain only one data type at a time, but can be almost limitless in size. Using the index to locate data elements is a relative easy task if you remember the index starts at 0. Name this data structure also called a vector or a list for the one dimensional type and a matrix for the two dimensional type.

ANSWER: array
4.
THIS IS A COMPUTATION QUESTION.  Take a triangle with sides of lengths 3 and 4. Give any possible side length for the third side that would make the triangle an obtuse triangle. 

ANSWER:
(The player will give a number as an answer. An acceptable answer will be any real number greater than five and less than seven, but NOT five or seven.)
5.
To convict, proof must be provided that they knew the person they were helping was a criminal. They may be labeled as “before the fact” or “after the fact” depending on when they provided assistance to the criminal. What legal term is different from “accomplice” in that the person did not participate in the crime, but merely assisted in some indirect way? 

ANSWER: accessory (do not accept “accomplice”)

6.
Ecuador left this organization in 1993, Gabon left in 1995 and Indonesia may have to leave in a few years. Its power declined with the development of fields in the North Sea and Gulf of Mexico, and its members have recently hinted they have little excess production capacity. What organization’s Arab members placed an embargo on the US and Europe after the 1973 Yom Kippur War, triggering gas lines and inflation?

ANSWER: Organization of Petroleum Exporting Countries or OPEC
7.
We see him first at a fair in St. Petersburg, where a Wizard casts a spell that brings him to life.  He loves another puppet, the Ballerina, but she loves a third puppet, the Moor, who hacks him to death.  Who is this poor title character in a ballet by Igor Stravinsky?

ANSWER:  Petrushka
8.
 In law, these two words refer to a third party that fronts a transaction on behalf of the real parties. They are often used in their literal form to distract the bull during a rodeo, or for combat sword training. What two words also describe a fallacy where one party misrepresents the other’s argument, then proceeds to demolish the false argument?

ANSWER: straw man or straw men
9.
Equal to the tangent of Brewster’s angle, it is 2.419 for diamond, 1.309 for ice, and 1 for a vacuum.  Name this figure defined as the speed of light in a vacuum divided by the speed of light in a medium.

ANSWER:
index of refraction (accept “refraction index,” “refraction number” or similar answer containing “refraction”)
10.
He was the first to notice that hydrogen and oxygen mixed to form water and discovered that a diamond was just another form of carbon. In his Elementary Treatise of Chemistry, he disproved the existence of phlogiston and was the first to posit the law of conservation of mass. What French scientist was guillotined during the Reign of Terror?

ANSWER: Antoine Lavoisier (lah-VWAH-zee-ay)

11.
“Weird Al” Yankovic parodied this video in a dream sequence in the movie UHF, centering on the Beverly Hillbillies.  The animated characters in the video deride a woman who makes “Hawaiian noises”, as they have “to install microwave ovens” and “move these color TVs”.  Identify this 1985 music video by Dire Straits, where the thin character often says, “I want my MTV.”

ANSWER:  ”Money for Nothing”

12.
This city was governed by a 30-member gerousia (geh-ROO-see-uh), five men known as ephoros and two kings, but most people who lived in it were serfs known as helots (HEE-lawts). Lycurgus and Leonidas were famous kings of this city, where full citizens spent age 20 to age 60 in some form of military training. What Greek city was the major rival of Athens?

ANSWER: Sparta
13.
Black writers from this country include Zakes (ZAH-kays) Mda (muh-DAH) and Mongane (mawn-GAH-nay) Wally Serote (seh-ROH-tay). J.M. Coetzee and Nadine Gordimer have been the Nobel laureates from what country in which is set Alan Paton’s novel Cry, the Beloved Country, a novel set at the start of apartheid? 

ANSWER: South Africa
14.
Heresies regarding this Christian concept include Modalism, where the aspects of this concept are merely modes of God Almighty, Adoptionism, where one member started as human and became divine, and Arianism, where one of its members “outranks” the other two. What concept groups the Father, Son and Holy Ghost?

ANSWER: the Holy Trinity or Triune God
15.
Consisting of 3500 species in the order Blattodea (blah-TOH-day-uh), these insects live all over the world.  This insect can live headless for a week and its types include American, German, and Madagascar hissing. What are these insects that have survived 300 million years and may survive a nuclear war?

ANSWER:
cockroach
Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
 Take the sentence, “Cats are felines.”  What type of verb is “are”?

ANSWER: copula or linking verb

1B.
What halogen is the most electronegative element?

ANSWER:
fluorine
2A.
Which co-founder of the art group f/64 is best known for his photographs of national park landscapes, such as Glacier and Yosemite (yoh-SEM-uh-tee)?

ANSWER:  Ansel Adams
2B.
Paleontologists Alan Grant and Ellie Sattler arrive at a Costa Rican island where John Hammond has set up a prehistoric theme park in what novel by Michael Crichton? 

ANSWER: Jurassic Park
3A. 
Francis Beaufort developed a system of classifying the speed of what, whose effects we feel as air moves from areas of high pressure to areas of low pressure?

ANSWER: wind
3B.
An unsuccessful attempt at contact was made with what spacecraft, launched in 1972 and the first to leave the solar system?

ANSWER: Pioneer 10
4A.
In what quadrant are values of sine and cosine both negative?

ANSWER:
third
4B.
THIS IS A COMPUTATION QUESTION. Convert 47 into a binary number.

ANSWER:
101111 (one-oh-one-one-one-one)

5A.
Who is the only British ruler to have celebrated a Diamond Jubilee? 

ANSWER: Queen Victoria (King George III did not make the 60-year mark)

5B.
At what Civil War battle did Robert E. Lee lose his valuable lieutenant Stonewall Jackson?

ANSWER: Battle of Chancellorsville
6A.
Which American figure skater fell like she usually does at the Winter Olympics in Turin, yet still left with the silver medal in the ladies’ competition?

ANSWER:   Sasha Cohen
6B.
In Egyptian mythology, what two-letter word denotes the soul of a dead person or god, as opposed to the ka, which is the life force?

ANSWER:  ba
7A.
THIS IS A COMPUTATION QUESTION.  What is the area of a trapezoid with height 7 feet and bases of length 8 feet and 44 feet?

ANSWER:
182 square feet
7B.
What Canadian-controlled area was shrunk even further with the creation of Nunavut in 1999? 

ANSWER: Northwest Territories
8A.
It is the third planet orbiting around the star Canopus. What desert planet is the setting for the Frank Herbert novel Dune? 

ANSWER: Arrakis
8B.
What is the scientific term for nearsightedness?

ANSWER:
myopia
9A.
For every action there is an equal and opposite reaction is what law?

ANSWER:
Newton’s third law of motion

9B.
His first name, which was not given for fifty years, was Reginald. What P.G. Wodehouse character is the ultra-efficient valet of Bertie Wooster? 

ANSWER: Jeeves 

10A.
What city on the Virginia-North Carolina border was the capital of the Confederate States between April 3 and April 10, 1865? 

ANSWER: Danville, Virginia

10B.
What shape has an area of pi times semimajor axis times semiminor axis?

ANSWER:
ellipse
Third period, 15 toss-ups, 10 points each

1.
This state’s “Silicon Forest” includes companies such as Tektronix and Nike, both of whom are headquarted in this state’s town of Beaverton. The Willamette (wih-LAH-met) Valley and Mount Hood are in what northwestern state whose capital is Salem and whose largest city is Portland?

ANSWER: Oregon

2.
Made up of beryllium, magnesium, calcium, strontium, barium, and radium, Group 2A of the Periodic Table is known by what term?

ANSWER:
alkaline earth metals (accept alkali earth metals, and accept an early Group 2 or Group 2A)

3.
Every time her lover visited her, he brought a strand of silk, which she used to build a ladder to escape her imprisonment. However, she gave away her secret to the evil witch that jailed her, leading to the prince’s blindness and her raising her twins all alone. However, her tears restored his sight and they lived happily ever after. What title character of a Grimm fairy tale let others in and out of her prison by lowering her hair?

ANSWER: Rapunzel
4.
THIS IS A COMPUTATION QUESTION. What is the determinant of the matrix with top row of 1 and 7 and bottom row of 9 and 72?

ANSWER:
nine
5.
It originally sold for 37 cents when James McLamore and David Edgerton introduced it in 1957, and when made correctly should weigh 290 grams.  Despite having only one patty, it has 670 calories, 240 of which come from the sesame seed bun.  What is this best-known sandwich of Burger King that also comes in a junior variety?

ANSWER:  Whopper
6.
The Native American chief Antonga Black Hawk delayed settlement of this state for a decade, and incidents such as the Mountain Meadows Massacre did not endear this state’s settlers to outsiders. Deseret (deh-ZER-et) was the proposed name of what state that had enough population to be a state for over 40 years, but whose entry was delayed until 1896, when the Latter-Day Saints banned polygamy? 

ANSWER: Utah
7.
While she lived in Italy, her poems Casa Guidi (GWEE-dee) Windows and Aurora Leigh were written. The line, “How do I love thee? Let me count the ways,” comes from this poet’s Sonnets from the Portuguese. Who was the wife of fellow poet Robert?

ANSWER: Elizabeth Barrett Browning
8.
The Vatican City has similar officers called nuncios (noon-CHEE-ohs). Member states of the British Commonwealth receive High Commissioners from other members instead of these officials.  Envoys, ministers and chargés (shar-ZHAY) d’affaires (dah-FAIR) are ranked below what official representatives of a government to other nations? 

ANSWER: ambassadors

9.
April rains and melting snow brought record flooding into Serbia and Romania and downstream of Budapest to what river, the longest in Eastern Europe?

ANSWER: Danube
10.
It is an inhibitory neurotransmitter, makes up about one-third of collagen, and has chemical formula C2H5NO2.  Name this simplest amino acid abbreviated Gly (G-L-Y).

ANSWER:
glycine
11.
This novelist entered the field of alternate history with 2004’s The Plot Against America, in which Charles Lindbergh was elected President in 1940. His most recent novel is 2006’s Everyman. What Jewish-American writer is also known for Operation Shylock, The Great American Novel and Portnoy’s Complaint? 

ANSWER: Philip Roth
12.
When this third-conjugation French verb goes before pied (pee-AY), it means to be out of one’s depth. When it goes before la tête (lah tet), it means “to go crazy”, or literally, “to misplace the head.” What French verb by itself is translated as “to waste” or “to lose”?

ANSWER: perdre (PAIR-druh)

13.
His nearly penniless death in 1885 inspired the US to start giving pensions to former Presidents. The Credit Mobilier (moh-BEE-lee-ay) and Whiskey Ring scandals marred the two terms of what President that accepted the surrender at Appomattox Court House of Robert E. Lee? 

ANSWER: Ulysses S. Grant
14.
Diseases that affect it include Graves’ disease and goiter. Name this endocrine gland that produces calcitonin, T4, T3, and is found in the neck.

ANSWER:
thyroid gland

15.
They first appeared during the 1980s, as developers tried to increase profits by building larger houses on an average size lot.  Common in Northern Virginia and other suburban areas are what mass-produced, neo-classically designed houses known as Frankenhouses or Garage Mahals and derisively named after Ray Kroc's fast food chain?

ANSWER: McMansions  (Accept clear-knowledge equivalents, but only before Ray Kroc is mentioned)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1. 
The first one was designed in 1667 by Robert Hooke.  Less common types include hot-wire and sonic ones, though on a snowy April day in 1934, the cup-style one of what meteorological instrument on top of Mount Washington spun at 231 mph?

ANSWER: Anemometer
2.
A Connecticut court ruled that since the mutiny had occurred in Spanish waters, no criminal charges could be filed. The American navel officer that captured the ship, the ship’s owners, the cargo’s owner, the Spanish vice-consul, the Spanish government and the slaves who had successfully mutinied all filed competing lawsuits that were settled in what 1841 Supreme Court ruling that the slaves could not be returned to bondage? 

ANSWER: Amistad case
3.
Characters in this novel include the three daimyos (DYE-myohs) Goroda, Ochiba and Ishido. The new Christian convert Mariko falls in love with the English protagonist, John Blackthorne, or Anjin-san (ahn-JEEN-sahn). What novel, by James Clavell, set in medieval Japan shares its name with the title that held real power in medieval Japan? 

ANSWER: Shogun
4.
THIS IS A COMPUTATION QUESTION. Convert 5/16 into a decimal.

ANSWER:
0.3125
5.
Martina McBride gave this duo its big break when she recorded their song “She’s a Butterfly”.  Their first single off of the album Horse of a Different Color was “Wild West Show”, but their second single, “Save a Horse (Ride a Cowboy)”, was featured on ESPN’s coverage of the World Series of Poker.  Identify this duo consisting of John from Lonestar and Kenny Alphin.

ANSWER:   Big and Rich
All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

